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1
Fig. 1.1 shows a stationary piston in a cylinder.
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(a) 
The gas in the cylinder exerts the same pressure on the piston as it does on the

sealed end. The sealed end has a smaller cross-sectional area.

Use ideas about molecules to explain why the pressures are the same.
(b) 
The piston is pushed inwards and the temperature of the gas stays constant.

(i) 
The piston moves 0.10 m. The average force exerted on the piston to compress

the gas is 23 N.

Calculate the work done. State the formula that you use.
(ii)
 The gas in the cylinder starts at a pressure of 1.0 x105 Pa and has a volume of

100 cm3. The volume of the gas decreases to 80 cm3.

Calculate the final pressure of the gas. State the formula that you use.
2 
Using an electric kettle, 100 g of water at 100 °C is converted into steam at 100°C in 300 seconds.The specific latent heat of steam is 2250 J / g.What is the average electrical power used?
3
 A 2 kW kettle containing boiling water is placed on a balance. It is left there and continues to boil for 5 minutes. The balance reading changes by 0.2 kg.What does this information give as a value for the specific latent heat of vaporisation of water?

4
Why do people feel cool if they do not dry themselves after swimming in the sea?
5
Explain why the smoke particles has random motion in Brownian experiment.

6
An electric heating coil supplies 50 W of power to a metal block of mass 0.060Kg and raises the temperature of the block from 20 C to 45 C in 90 s.Calculate the specific heat capacity of the metal.What assumption did you make to arrive at your answer?

